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AHAERT 99 118 115 233 IBTHN 11,994 11,911 13,130 25,041|%MET =T H 146 144 127 271 A RHHRT 520 651 724| 1,375
ARYHT 225 209 222 431 FEIT=TH 132 134 123 257 KEEHMX 3,063 3,960/ 4,089 8,049
JEBT 359 337 381 T18|f5 EHT 234 276 279 555(fFxMTIU T H 69 50 55 105
B 533 568 596| 1, 164|fRiZEHT 3,482 3,885 3,916 7,801 AHFHHX 9,905 10,820 10,196| 21, 016|F /A HT 328 458 475 933
& HHT 307 310 338 648| FrifrlT 198 226 243 469 A ET 195 300 313 613
FE M 277 259 276 5357 FHIT 514 537 562 1, 099 Hr T 1,012 1,289 1, 340 2, 629|5% 1 LI — T H 658 826 944 1,770
)1 ET 117 128 134 262[iTART 3,228 3,552| 3,644 7, 196|814 H AT 357 440 464 904( 41 LIBT — T H 228 282 302 584
KAGHT 654 641 627 1, 268| HRHAT 3,025 3,468 3,598 7, 066 H 2 MT 1,675 1,882 2,030 3, 912| AR/ N lT 631 809 849 1,658
$RmT 17 14 20 34| Y 560 639 646 1, 285| H My 881 1,095 1,103 2, 198| L4 mT 1,383 1,805 1,944 3,749
FSHT 59 54 65 119| B mT 1,243 1,496| 1,526 3,022| #HemRHX 3,925  4,706] 4,937| 9,643| Fg/\iEHX 3,423 4,480|  4,827| 9,307
b= T 220 255 293 548| KARHT 156 166 175 341
drisET 69 59 66 125| A YERT 338 416 468 884| H-EFHT 2,591  2,916| 3,050 5, 966|% ELET 440 493 563| 1,056
JUREHT 122 107 129 236| HERNT—T H 338 420 449 869 A/ \AHT 1,010 1,231 1,173 2, 404|ZEIGHT 268 368 371 739
HHET 155 117 111 228 HHIRET T H 385 473 435 908|/INJ\AHT 1,161 1,447) 1,440 2, 887| &% HHET 749 856 895/ 1,751
TREHT 77 61 78 39| ERIT =T H 420 487 493 980| IE@L=FHT 385 478 527 1, 005 HH BLmT 188 245 244 489
FFIHET—T H 157 142 177 319(HERETIU T B 280 381 404 785|[FEETE —T H 45 48 17 65| HmT 974 1,249 1,325 2,574
FRIHET T H 113 117 116 233  FRMIX 14,401| 16,422| 16,838| 33, 260[R =N —TH 96 96 83 179| i BT 578 771 795/ 1,572
FFAIMAT =T H 126 137 145 282 fErT—TH 232 216 259 475 A S 3,197 3,988 4,193 8, 181
FRTHETY T H 141 177 179 356| 1 JFHT 3,514 4,138 4,308 8, 446| M= T H 36 38 38 76
A FalT 451 464 526 990 [y [T —T H 264 303 327 630(HEAT =T H 14 14 17 31| AR EFIT 5,282|  6,360| 6,497| 12,857
=F: L 22 18 25 43| RT =T H 562 652 720 1, 372|HERETIUT H 102 114 111 225 JFHT 141 183 220 403
iy 169 166 191 357 TRl =T H 824 895 972| 1, 867|ULfLMT 1,762) 2,147  2,247| 4,394 AKX 5,423|  6,543| 6,717 13,260
=R 47 31 48 79| HT 1,783 1,822 2,010  3,832] f)I[HX 7,434 8,745 8,962 17,707
T 180 161 192 353| FEfHT 1, 386 1,571 1,619 3, 190 RIRHT 395 515 562 1,077
RILHT 480 515 547| 1, 062| B g HT 182 198 221 419( 4 FHmT 467 536 610 1, 146| 5t HHET 472 555 589 1,144
(=) 38 34 36 70|\ FHRHET—TH 471 547 498 1, 045 Al T 2,116|  2,563| 2,502| 5, 065| & EFH] 535 691 637 1,328
fEFHET 87 73 93 166\ TRIT =T H 350 381 408 789 N BT 210 278 306 58475 5 HT 121 155 144 299
HEAHT 45 40 48 88|\ FHRET=TH 425 480 5200 1, 000| kM 1,032 1,280 1,367 2, 647|FKJEHT 506 725 735 1, 460
FHET 223 209 222 431 NFARETIY T B 367 442 489 931 ffiRET 478 598 609 1,207 EHT 346 432 398 830
f=Lg 173 187 190 377 R X 10,128| 11,429 12,092| 23, 521|HTE=HT 367 399 470 869|Jt 4 T 465 615 618 1,233
T bET 578 624 664 1,288 J\ T 1,998 2,524 2,604 5,128 T EX 2,840|  3,688| 3,683 7,371
FEASHT 29 24 28 52| b EFmy 2,159  2,582| 2,645 5, 227|F5 HET 119 164 171 335
ST 528 522 593 1, 115|{=BF¥ERT 35 40 45 85 I\ H1X 6,787|  8,342| 8,639 16, 981| LiHT 235 342 319 661
FRHT 26 29 32 61 - EmT 3,313| 3,807 3,674| 7,481 TERETHT 128 189 190 379
LT 171 163 172 335| AL A ZEHRT 351 419 472 891 b fi] W] 1,156| 1,455 1,476| 2, 931| F75 HHET 138 201 194 395
JEET 196 171 221 392 2HT 623 627 632 1, 259| & ET 1,781 2,152  2,198| 4, 350| Fi&HT 353 486 457 943
AT 367 361 392 753 TSP HT 1,100 1,358 1,355 2, 713 hT 790 977/ 1,001 1, 978| 5 My 269 423 405 828
R AT 41 36 43 79| 23T 1,241 1,628 1,631 3, 250|dt/AfRET 413 488 546 1, 034 P K0T 357 410 376 786
AT 1,591 1,664 1,822 3, 486| T HEHT 922 1,162 1,141 2,303| B X 4,140 5,072 5,221 10, 293[/\i%JEmT 286 411 441 852
fi FE T 218 222 252 474\ Hr1% pAWT 408 492 487 979 ) | 1 (X 1,766  2,462| 2,382 4,844
icLZLig 121 131 151 282| HRJEIT— T H 498 589 564 1, 153|7HT 466 581 580/ 1,161
F T 159 144 157 301 HEIT =T H 1,416 1,573 1,827 3, 400| 25 HulT 407 543 519 1, 062| A AIMT =/ £ 488 672 678 1,350
‘wr eHT 200 184 250 434 HERT =T H 595 689 754 1, 443| AL HT 152 213 211 424( A vAIRTHE 428 587 594 1,181
Amy 193 166 203 369| HEATIU T H 557 683 698 1, 381|417 /10T 127 177 192 369| B HET KA 169 250 254 504
JEAHERET 59 51 31 82 MY 849 978 996 1, 974|311 1,108 1,459 1,538 2, 997| A BHIITAE K 118 169 171 340
A1) 328 351 415 766|Fi1HH £ H T 555 598 558| 1, 156|FE M 349 448 474 922 A AINT) 11 357 452 483 935
)1y 234 192 267 459|  fEEFHIX 14,622| 17,225 17,479| 34, T04|%ERAHT 426 554 565/ 1,119 AKX 1,560 2,130 2,180 4,310
1L FHET 114 110 111 221 Felgmy 220 296 307 603
S1) 89 85 97 182| b/l sy 761 896 947| 1,843 E#X 3,255 4,271 4,386 8, 657|SEARHTPEHR 710 943|  1,007| 1,950
Pu > T 41 48 49 97| F/NtgmT 443 576 640/ 1,216 FESRHT & B 83 110 127 237
el 50 62 57 119 kA 3, 055 3,170 2,741 5, 911 ERJEAT 1,081 1,301 1,339 2, 640| FEHRHTHA 2 IR 340 232 209 441
G mT 92 95 81 176( T/ EHT 2,106  2,326] 2,171 4, 497|145 RAHBT 269 389 401 T90| EEABHT 5K J5 819 1,168 1,188 2,356
JHIAERT 234 239 265 504| T/ gHT 1,512 1,619 1,568 3, 187|L&ir T 599 823 823 1, 646 | FEHRMT HH = 392 550 565 1,115
FEHAHT 420 358 429 T87| HUAHET 1, 401 1,638 1,617 3, 255 N RJFHAT 396 544 551 1, 095| FARAT F2 1,132 1, 487 1, 587 3,074
i FH T 173 171 162 333 FkIT— T H 280 267 207 474) FPOREET 198 252 251 503 FEAPHT ¥ 677 942 982 1,924
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M [ 328 519 513 1, 032| & FHMT Jy 1L 180 294 279 573
FEHRMT 200 301 306 607| 5 HMTAYD 459 644 622 1, 266
FEPRETFT A (L 138 198 213 411 E AT 277 361 372 733
FEHRMT )1 403 554 597 1, 151 | & Hmuyh 474 707 664| 1,371
FEYRIT P 6 5 10 15[ & HHT % H 406 561 602 1,163
FEHRMTAAAIR 784 1,128  1,144| 2,272 FHMTLHA 99 154 156 310
FEGRET A i 1, 462 1,934 2,026 3, 960| & H- M7 5 32 47 55 102
PR HE X 7,474 10,071 10,474| 20, 545| & HET 4R 283 405 429 834
EEaalp: 209 202 243 445
Sl ET 3,155 4,130  4,299| 8, 429|FHE HETHA 39 63 59 122
paislag 1, 399 1,773 1,907 3, 680] &5 HHT R 13 13 18 31
5| FE T 412 563 617 1, 180| HIFMT L L B 359 529 552 1,081
3=t 1) 131 184 201 385| H FHHTEIR 41 61 76 137
T faf v ] 227 254 256 510 & H-HT 7 4 117 178 165 343
77K T 72 114 109 223| EHMTH S 135 215 209 424
% JE[RIET 63 98 105 203 HET/NER 320 446 474 920
B S HT 172 267 269 536| & HHT EAE 105 170 187 357
V5[ 5y HT 208 313 313 626 & HRT A I 167 234 230 464
b Iy 313 392 363 755( & FHEHT /N 200 302 306 608
T e AT 2,834  3,790| 3,715 7, 505|FE HEET I T 520 740 717 1,457
AT 1, 054 1,338 1,350 2,688 EFHATRIEE — T H 319 411 434 845
=AY 648 905 915 1, 820 EFHMTEME T H 345 445 477 922
R AT 1,308/ 1,632 1,593 3,225 FFHETEEEA =T H 229 323 312 635
[iZ1=1a) 1, 065 1,396] 1,345 2, 741|575 HEHT 1% 292 446 444 890
rh ELET 387 508 545 1, 053] & H-HT T B 93 138 145 283
PR T 554 754 775 1, 529| & FRM] LB 145 206 200 406
FEHET 479 614 685 1, 299|FHMETH 0 60 96 91 187
RER X 14,481 19,025 19,362 38,387 #HFHX 9,012 12,533 12,791 25,324
iy 5,477|  6,300| 6,456 12,756
T b X 5,477/ 6,300/  6,456| 12,756
R T 1,166 1,604 1,701 3,305
rh = AT 986 955 1, 168 2,123
= HET 457 648 641 1, 289
B4 LT 120 72 101 173
R4 IHIRT 49 47 69 116
R ERT 335 517 541| 1,058
LT 859| 1,161| 1,232| 2,393
o L LT 657 921 907| 1,828
- HLRRT 960| 1,319 1,396] 2,715
AT 850 1,188 1,196 2,384
e T 675 942 974| 1,916
FaHT 169 226 248 474
+- 3T 195 300 273 573
B PRHT 333 502 489 991
=Y FRET 107 143 145 288
[URLa) 117 164 172 336
R4 X 8,035 10,709 11,253 21,962
E R 634 807 831 1,638
IR E IR 1,165 1,436) 1,498 2,934
E R RAR 216 325 335 660
IR RAR 941 1,358| 1,392| 2,750
2 HEET/M 138 216 217 433 w A E 152, 342| 184, 832| 190,287 375,119




